SUBTRACTION BY ESTIMATION

A' B' 53 is closer to 50,25 is in the
28— 30 | "GN avickey see whar e 53 - (25+3) A
'| '| '|O APPROXIMATE ANSWER WILL BE. 50 - (30 +O) | itto 0.
- —_—p -
50-30=20
20
NOW YOUR TURN, ADD USING ESTIMATION.SHOW YOUR ESTIMATIONS.
1. 86— 90 2. 43 3. 27 4. 49
-54—-50 -39 W -9 - 18
40
v
| A
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5. 78 6. 84 7. 67
=65 - 29 72
9. 24 10. 51 1. 63
10 4 36
- 37 - 35 - 20
13. 28 14. 35 15. 17
33 17 56
- 21 - 14 - 11
17. 85 - (23 + 45) 18. 67 - (31+12) 19. 68 - (37 + 21)
20. 74 - (6 + 49) 21. 81-(18 + 22) 22. 86 - (43 + 25)
23. 92 - (23 + 25) 24. 45 - (7 +14) 25 53 - (21 +26)
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